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QUESTION 1
Scenario

You are the CIO of a large stockbroking firm, based in Hong Kong.Recently this company has acquired two other major
firms in Londonand New York. Total Company staff now exceeds 800 people. EachFirm currently has their own Service
Desk.

Hong Kong has 10 SD staff to 400 employees, with 6 2nd levelsupport staff London has 3 SD staff to 140 employees
with 3 2nd levelsupport staff New York has 5 SD staff to 250 employees with 5 2nd levelsupport staff With this new
merger comes new support issues. Complaints arecoming in to say that there si an imbalance with ratio of IT
supportstaff to users, Service Desks in London and New York are havingtrouble knowing and supporting new systems
which has resulted inusers calling Hong Kong Service Desk. This has resulted in higherresolution times and an inability
to get through to the service deskThe Business is not happy with the current situation.

Refer to the scenario.

As CIO, you decide to reorganize the Service Desk structure as ameans to address the levels of service. You decide to
use a followthe sun Service Desk. Which of the following descriptions to youpresent to the Business as your solution?

A. By implementing a follow the sun SD, you use current data todetermine minimum staffing requirements in each
location tosupport its own location and the expected support levels inother locations. You then ensure that SD staff are
trained onall current services. You appoint 2 Super Users per ServiceDesk to act as a buffer and to assist the users.
You set up SDschedule based on usage and work hours.

B. By implementing a follow the sun SD, you use current data todetermine minimum staffing requirements in each
location tosupport its own location and the expected support levels inother locations. You then ensure that all SD staff
are trainedon all current services and able to provide an average of 60%1st line support as a target you appoint 2 Super
Users perlocation to act as a buffer and to assist the users. You set upSD schedule based on usage and work hours

C. By implementing a follow the sun SD, you will start byinvestigating if the current infrastructure is capable ofsupporting
a global service desk, including use of VOIPtechnology (this is possible). You use current data todetermine minimum
staffing requirements in each location tosupport its own location and the expected support levels inother locations. You
decide to use English as the mainlanguage for all support. You then ensure that all SD staff aretrained on all current
services and able to provide an averageof 60% 1st line support as a target you appoint 2 Super Usersper location to act
as a buffer and to assist the users. You setup SD schedule based on usage and work hours

D. By implementing a follow the sun SD, location. You decide tokeep local languages for SD. You use current data
todetermine minimum staffing requirements in each location tosupport its own location. You then ensure that all SD staff
aretrained on local services and able to provide an average of60% 1st line support as a target.You appoint 2 Super
ServiceDesk Operators per location to act as a buffer and to assistthe users.

Correct Answer: C

QUESTION 2

There have been multiple incidents recorded by the Service Desk. Itappears that the network is congested due to
multiple connections.

What kind of actions should the Service Desk analyst take in thisinstance?

A. They should ask the Capacity Manager to expand the capacity of the network
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B. They should ask the Problem Manager to look into the problem right away
C. They should ask the Security Manager to check whether too many authorizations may have been issued.

D. They should ask the Service Level Manager to revise the Service Level Agreements (SLA) with a decreased
availability target

Correct Answer: B

QUESTION 3

Which of the following BEST describes the purpose of EventManagement?

A. To detect events, make sense of them and determine the appropriate control action
B. To monitor interactions and exceptions within the infrastructure

C. To monitor and control the activities of technical staff

D. To detect and escalate exceptions to normal service operation

Correct Answer: A

QUESTION 4
Scenario
Vision Media is an international media organization, operating variouslines of business including:

Film Production Television (production and delivery of their own channel in the United States VisionOne) Print media
(including newspapers in 15 countries) Online Advertising The organization has recently been restructured, and now
iscomprised of the following companies and departments:

Vision Films (production of movies and television shows) VisionOne (television channel) VisionNews (coordinates all of
the sub-companies involved in the delivery of printed newspapers, as well as being the centralized source of news
information for all company owned media outlets) VisionNet (managing the online and internet businesses) Legal
Services Finance and Administration Human Resources Information Technology

The organization is also actively pursuing growth in the online market,and is currently holding discussions with the
leading online newsprovider about the possible acquisition of their company. This wouldincrease the overall size of
Vision Media by around 15%.

The Information Technology department acts as a Shared ServiceUnit, providing IT Services to all of sub-companies
and departments,which complement some of the Internal Service Providers that alsoexist. The director of Information
Technology has realized the need toimprove the quality of services offered by implementing ITIL, and hasdecided to do
so using a phased approach. Some of the ServiceDesign and Service Transition processes have already
beenimplemented, and they are now planning the implementation ofService Operation.

While the IT director does have tentative support from the otherdirectors and CEO, budgets for implementing the
Service Operationprocesses have not been finalized, and still require a business caseto be formally submitted.

Refer to the exhibit.
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Sally Robbins, who had previously managed the IT department\\'sService Desk, has now been assigned the role of
Incident Manager.To assist in the implementation of the process, Sally has conducted anumber of meetings with IT
staff, customers, external suppliers andother relevant stakeholders to identify their requirements. Based onthese
discussions, Sally has created following impact definitions,which will be used in conjunction to the given urgency to
determinethe appropriate timescales and effort applied for response andresolution to recorded incidents.

Urgency

Impact | Priority
Med 2 3 Pl
Low 3 = 5

Impact Definition: Low Impact Affects a single user, preventing them from performingnormal work functions A single,
non-critical device

or peripheral is unavailable Medium Impact

Multiple users are affected, preventing them fromperforming normal work functions A regular business function is
unavailable to part of aor organizational unit department

High Impact

A vital business function is unavailable to an entiredepartment or company owned organization

Major Incident

A vital business function is unavailable to all Vision Media departments and company owned organizations

Example Incidents:

I. The IT manager of Vision Films detects that their dedicatedVirtual Private Network linking them to Vision
Media\\'scorporate IT systems has failed. This has prevented usersfrom accessing or modifying any file, document or

systemmaintained by the centralized IT department of Vision Media.

Il. The vice-president of the Finance and Administrationdepartment reports that her laptop keeps rebooting. She hasan
important report to complete for the Chief ExecutiveOfficer.

lll. The president of Vision TV is unable to stream high-definitionvideo from a regional office. He requires the regional
office\'sWAN connection to be upgraded to a 14.4 M/bit wirelessmobile network.
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IV. A IT staff member is alerted to the failure of systems providedby Human Resources to all other departments and
subcompaniesto manage payments and leave for Vision Mediaemployees (and those employed by organizations fully
ownedby Vision Media)

Which of the following responses provides the correct assignment ofimpact to the above incidents?

A. High Impact

II. Medium Impact

lll. Not an incident, should be a Request for Change

IV. Major Incident

B. High Impact

Il. Low Impact

lll. Not an incident, should be a Request for Change

IV. Major Incident

C. Major Incident

II. Medium Impact

[ll. High Impact

IV. Major Incident

D. High Impact

Il. Low Impact

[ll. Medium Impact

IV. Major Incident

Correct Answer: B

QUESTION 5

Which ITIL process ensures that the IT Services are restored as soonas possible in the case of a malfunction?
A. Change Management

B. Incident Management

C. Problem Management

D. Service Level Management

Correct Answer: B
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